Méx16 - 7x i, 4
M8x40 - 1 i - 1x
Mléxzs-zx @ SM8 - 1x P28 P14 - 4x PR14 - 1x
M10x1,25x25 - 4x
M10x110 - 4x Mé - 7x PP6 - 7x
M14x50 - 4x ""r* M10 - 6x P6 - 2x PP10 - 10x
M12x70 - 2x (A) ~@ M12 - 2x (A, 1) P10 - 8x @ PP12-2x (A, 1) BP340 - 4x
M12x%0 - 2x (1) A M14 - 4x PP12 - 4x (C)
M12x19 - 4x (C) PP14 - 4x
DETAIL SORENTO DETAIL SANTA FE
i J, 2012-2018
I | P ST
I!I ;’ N L *:_\L
y W ©
DETAIL SANTA FE
2018-

M12x20 (10.9) - 2x
110 Nm!

M10x110
M10x1,25x25

AlC 32502

M10x25
M10x1,25x25
Méx16

S

£7
L

HYUNDAI SANTA FE, KIA SORENTO
Kéd: HO?17(A1C) 2. 11.202]




